EARAROBEEIERT — 2 N— IBISH —F

20165 7H9H (+) 2M{EE3H

(Pl 5%3mLE 500ATF

(5] T8

‘ [Riz] & ‘

[FEERR] — | 4 (&) 17000 FHE

[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 37 :1,900,000

/473 11,100,000 5 7& :750,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o N KHER 145. —-2-1- . . SEHERA ()
A IRARE=E 22> [B] o4 e 1(4_5)9 2-2-1-1 |38.7] 95.4 | 6 zzg? ;J'Eﬁm
L4 o BAY /74— KIFERAR S
i . 4 3 | AEHRS 1:46.2 5-5-2-2 | 38.9| 92.8 | 12 | 460 |=HlIiE ()
28|15 7L AT HY b 54.0 (1 3/4) (1) | SEIRRE
X ThANAN B:H 7270y b HEI77—L4
44 | HEILHEA 1:46.2 15-14-8-3 | 38.6 | 92.7 | 2 500 | FHEEX (Ei#)
3|5/9| ATV 7Y~ 57.0 (7€) Cio) | GB) HEL=2AK-2
R:F4—=T14>no b B:XRE=0>70-)vy 7 HET7—L
S o . EZIEHE : -11-13- emEZ (@)
VAP o4 e (11416/;1) 11-11-13-6 | 38.5 | 90.9 | 10 ff) e
:€r/0704 BiR—-A bhFrA &% B
SA 4 4 | AEDL 1:46.8 5-5-4-6 |39.3| 87.8 | 9 486 | AREAET (F#H)
TAIVRKE Y — A54.0 (2 1/2) (+10) EEEX
L:TANWRT L E— B RA—FTFv T BRT U HI%S
: 7 = # 5 | AFBIEA 1:47.1 13-11-11-11{ 39.3 | 85.2 | 8 446 | BEBFIGL (i)
BAF T 2T %¢56.0 (1 3/4) (6) | .UB) FIRBEERHS
R:THr—T14F4F—-Y%> B:UsTr7—Fz FARBRER A5
on = N HIDEE : 54— BFE— (E@)
ReFT7TUFF R avs YIS %09 801 3 ;ﬁ A
R:FATATv— BO—<>TUuY TALDMS
— AN AEEE : 811 =isn (Em)
@7ILF1N1> [B] 5 2 1(/:\1;)3 8-8-11-9 | 39.6| 83.8 | 13 (438) i
L:TUHYSA IR B:T7ILTIT59Y T #5%
o So T i 3 | HHE 1:47.5 2-2-4-6 | 40.1| 825 | 5 424 | EHBIL (EH)
TPRAFA AT v T 54.0 ) (1) | 7ROYITLY K 5T
L:T7AROFLTEL B ML —X—FK AW S
S S : # 3 | HEAA 1:47.6 14-14-14-13| 39.6 | 81.2 | 11 458 | THIR (E#)
10011 ELvysd—nk 5.0 (1/2) e | MM
R:d—IWRT7Ya—b B:IVIXZIZ K-> RSt L¥EIU LT —L
s 44 | BPEBE 1:47.6 8-10-8-3 | 40.0| 81.6 | 4 492 | FBAE— ()
11712 % 57.0 (74%) (+4) ﬁim—
L:T7L>FFE2T7e BEXRT7AOVIZR HET7—L
3 4 5 | BIEIEH 1:47.8 11-11-14-11/ 39.8 | 79.7 | 14 506 | fRERIEE (35)
12|58 | 7ELA 5~ 57.0 (1 1/8) Cay | W) ESHTy—g-x .2z
R:F4—TZAHA B UF-TI—k Nzebie
. . 4 o4 | PlBEX 1:48.1 8-8-8-9 | 40.5| 78.0 1 512 | WEIHEEA (EH)
13 5 TEAF )= 57.0 (1 3/4) (+4) HEER
RexA1=ZTr—R BT« HET77—»4L
. # o5 | EEET 1:53.1 1-1-2-13 | 45.8| 50.9 | 15 | 530 | &R (X#)
14 6 =&)Lt — 57.0 (%21 4) (-2) i%&l’é (%)
b=k RT— B:h—KIT7E-—L BRTUh %S
.= i+ 3 | AWEIGt — 2-4-4 — — 7 510 | WIIEE (E#)
N > REZEEFEZY g a51.0 (i) (o) | EEALE
R:7FRVIT BT avuqasR zEiie
@ 21 L
£ 51.8-38.7
NA>ZA L | 7.0-11.0-11.4-12.1-12.6-13.1-13.1-12.6-13.0
® 1—F—@EBIERL
13—F+— 6(3,11,14) (7,13,15)-(2,5,12) (8,10)4,1,9
230—7F— | 6(11,14)3(7,13,15)-(2,5)12(4,8,10) (1,9)
Ja=77= (6,%14,15) (3,11,13,7) (5,12,9) (4,2)10(1,8)
40—F— (x14,15) (7,12,9) (11,13,10) (2,5) (4,8) (6,1) 3
[ N5
B 14 1,590 714K 14-15 6,810 e E 8-8 20,7804 JEE 9-14-15 56,100/
B B 14 410M 9-14 1,340H B = 14-15 31,510H JEH 14-15-9 487,530
15 1,140 9-15 5,590 B H 14-15 57,850M
9 240M

ABICOVWTRDTEEERROODE. TR LIV,




